

UC Irvine

UC Irvine Previously Published Works

Title

Hand-Assisted Laparoscopic Approach in Colon Surgery

Permalink

<https://escholarship.org/uc/item/6wf0j5q0>

Journal

Journal of Gastrointestinal Surgery, 19(11)

ISSN

1091-255X

Authors

Moghadamyeghaneh, Zhobin

Carmichael, Joseph C

Mills, Steven

et al.

Publication Date

2015-11-01

DOI

10.1007/s11605-015-2924-y

Peer reviewed

Hand-Assisted Laparoscopic Approach in Colon Surgery

Zhobin Moghadamyeghaneh¹ & Joseph C. Carmichael¹ & Steven Mills¹ & Alessio Pigazzi¹ & Ninh T. Nguyen¹ & Michael J. Stamos¹

¹ Department of Surgery, University of California, Irvine, School of Medicine, 333 City Blvd. West Suite 1600, Orange, CA 92868, USA

Abstract

Background This study sought to compare outcomes of patients who underwent hand-assisted laparoscopic (HAL) colectomy with open and laparoscopic colectomy (LP).

Study Design The NSQIP databases were used to examine the clinical data of patients who underwent elective colectomy during 2012–2013. Multivariate regression analysis was performed to compare the three surgical approaches.

Results We sampled a total of 21,090 patients who underwent colectomy. Of these, 7480 (35.5 %) had open colectomy (OC), 8751 (41.5 %) had a laparoscopic colectomy, 2860 (13.6 %) had a HAL colectomy, and 1999 (9.5 %) had an open procedure converted from LC or HAL. Multivariate regression analysis revealed HAL colectomy had a similar mortality (AOR 0.53, $P=0.07$) and a lower morbidity (AOR 0.37, $P<0.01$) compared to OC. LC had lower mortality (AOR 0.58, $P=0.02$) and morbidity (AOR 0.43, $P<0.01$) compared to OC. Mortality of patients who underwent HAL was not significantly different from LC (AOR 0.90, $P=0.79$); however, morbidity of such patients was significantly higher than for patients who underwent LC (AOR 1.29, $P<0.01$).

Conclusions HAL colectomy is a safe approach with significant advantages compared to open colectomy. Although the morbidity of patients who underwent HAL is higher than patients who underwent LC, the morbidity rate is still lower than OC.

Introduction

Since its introduction in 1990, laparoscopic colectomy has gradually become the preferred technique for colon resection.^{1–4} Feasibility, safety, and advantages of laparoscopic colectomy compared to the traditional open colectomy have been reported multiple times.^{5–7} However, the technical difficulties, learning curve, and limitations of laparoscopic colectomy make the adaptation of a laparoscopic approach in colon surgery slow.⁸ In order to overcome the technical difficulties of laparoscopic colectomy, hand-assisted laparoscopic colectomy was introduced.⁹ Hand-assisted laparoscopic (HAL) colectomy is a hybrid technique allowing surgeons to mix both open and laparoscopic techniques within the same operation.¹⁰ It can be used to decrease the conversion rate of laparoscopic colectomy to open or to assist novice laparoscopic surgeons to climb the steps of the learning curve of laparoscopic colectomy.¹⁰ The procedure involves insertion of a hand into the abdominal cavity through a special hand port, while otherwise maintaining the laparoscopic colectomy to facilitate colon resection.¹¹ A number of

studies have been reported comparing laparoscopic colectomy and HAL colectomy.^{11–14} Shorter operative time and a lower conversion rate compared with laparoscopic colectomy have been reported.¹⁵ However, the numbers of patients in these studies have been limited, and there is limited data comparing HAL colectomy with open and laparoscopic colectomy using multivariate analysis to attempt to control for population differences. Using a nationwide database, this study aims to compare outcomes of open, laparoscopic, and HAL colectomy.

Materials and Methods

This retrospective analysis was performed using the American College of Surgeons National Surgical Quality Improvement Program (ACS NSQIP) database from 2012 to 2013. ACS NSQIP is a validated outcome-based database designed to improve hospital surgical quality.¹⁶ It provides pooled data from multiple institutions with over 250 variables including preoperative to 30-day postoperative information of surgical patients based on clinical data in the USA.¹⁶ Data abstraction occurs consistently with standardized definitions, and data accuracy is ensured by specifically trained nurses and audits at each participating institution.¹⁶ We analyzed the available data on patients who underwent elective colon resection. Patients with International Classification of Diseases, 9th Revision, clinical modifications (ICD-9-CM) diagnosis codes of colon cancer (153, 153.0–153.9, and 154.0), diverticular disease (562.10–562.13 and 562.1), benign colon tumors (211.3), ulcerative colitis (556 and 556.0–556.9), and Crohn's disease (555.1 and 555.2) were included only if they had procedure codes for colon resection according to the Current Procedural Terminology (CPT) codes of 44140–44160 and 44204–44212. Patients younger than 18 years, patients with an American Society of Anesthesiologists (ASA) class of five, and non-electively admitted patients were excluded from this study.

Variables of the study consisted of demographic-specific data on age, sex, race, comorbidities, type of the resection (partial colectomy vs. total colectomy), wound classification (clean, clean contaminated, contaminated, dirty), oral antibiotic and mechanical bowel preparation, surgical approach, ASA score, operation length, total hospitalization length, patient diagnosis (colon cancer, diverticular disease, ulcerative colitis, and Crohn's disease), preoperative white blood cell count, and serum albumin level which were abstracted from the database when available. All comorbidity variables reflect standardized NSQIP definitions except the obesity variable which was defined as a body mass index 30 or more according to the original variables of NSQIP. Primary end points of interest were mortality, overall morbidity, postoperative complications, total operation length, and total hospital stay.

Statistical Analysis

Data were recorded and analyzed using SPSS® software, version 22 (SPSS Inc., Chicago, IL). The length of total hospitalization and operation length were compared using a multivariate linear regression model. Multivariate analysis using logistic regression with calculation of adjusted odds ratio (AOR) and 95 % confidence interval was used to compare mortality and postoperative complications of open, laparoscopic,

and HAL colectomy groups. Also, using logistic regression, we compared different left-sided colectomy approaches with each other for diverticular disease patients in a subset analysis of data due to differential use of HAL for left and right colectomy. In order to eliminate effects of confounding variables, adjustments were done for all variables of the study which include age, sex, race, ASA classification, operation length, type of the diagnosis, type of the procedure, serum albumin level, white blood cell count, dyspnea, bleeding disorders, hypertension, weight loss, chronic steroid use, diabetes, chronic pulmonary disease, congestive heart failure, obesity, ascites, renal failure, wound classification, disseminated cancer, smoking, mechanical bowel preparation, and oral antibiotic bowel preparation. The level of significance used for retention was 0.05.

Results

A total of 21,090 patients who underwent elective colectomy were identified from the ACS NSQIP database for 2012–2013. The median age of patients was 62 years old; the majority of patients were Caucasian (86.7 %) and slightly more than half were female (50.6 %). Of the comorbidities encountered, the most common was hypertension (49.2 %) followed by diabetes (14.9 %). The summary of patient baseline characteristics by surgical approaches is shown in Table 1. Mortality of patients who underwent open colectomy was 2.1 %. Patients who underwent successfully completed laparoscopic and HAL colectomy had a mortality rate of 0.6 %. In multivariate analysis, there was no significant difference between mortality rate of laparoscopic and HAL approaches. Overall, morbidity rates of patients who underwent open, and successfully completed laparoscopic, and HAL colectomy were 44.6, 20.7, and 24.7 %, respectively. Following multivariate analysis, both laparoscopic and HAL approaches had significantly lower morbidity rates compared to open colectomy (Table 2). The median operation times of patients who underwent open, laparoscopic, and HAL colectomy were 147, 157, and 154 min, respectively. Laparoscopic colectomy had a longer operative time compared to open colectomy (mean difference=6 min, CI 3–10, $P<0.01$). Also, HAL colectomy had a significantly shorter operative time compared to laparoscopic colectomy (mean difference=8 min, CI 4–12, $P<0.01$). However, there was no significant difference in operative time between open and HAL colectomy (mean difference=3 min, $P=0.33$).

The median total hospitalization length of stay of patients who underwent open, successfully completed laparoscopic, and HAL colectomy were 7, 4, and 4 days, respectively. Both HAL colectomy (mean difference=3 days, CI 2–3, $P<0.01$) and laparoscopic colectomy (mean difference=3 day, CI 2–3, $P<0.01$) had a shorter total hospitalization length compared to open colectomy. There was no significant difference in total hospitalization length of patients between those who underwent laparoscopic and HAL colectomy (mean difference=0 day, CI 0–1, $P=0.21$).

Risk-adjusted analyses of postoperative complications of open, laparoscopic, and HAL colectomy are shown in Table 2. The risks of 13 postoperative complications were significantly lower in laparoscopic colectomy compared to open colectomy. Also, the risks of nine postoperative complications were significantly lower in HAL colectomy compared to open colectomy.

Table 5 reports risk-adjusted analysis of postoperative complications in HAL colectomy compared to laparoscopic colectomy. Although mortality risks of laparoscopic and HAL colectomy were not significantly different, morbidity of patients undergoing HAL colectomy was significantly higher than patients who underwent laparoscopic colectomy (AOR 1.29, $P<0.01$). Postoperative complications of sepsis (AOR 1.51, $P=0.02$), superficial surgical site infection (AOR 1.48, $P<0.01$), intra-abdominal infections (AOR 1.40, $P=0.04$), and prolonged ileus (AOR 1.36, $P<0.01$) were significantly higher in HAL colectomy.

Risk-adjusted analysis of postoperative complications in patients who had a converted procedure to open compared to successfully completed laparoscopic and HAL operations is reported in Table 3. Although mortality and morbidity of patients who had a converted procedure were not significantly higher than open colectomy, patients with a converted procedure had significantly higher morbidity compared to successfully completed laparoscopic (AOR 2.42, $P<0.01$) and HAL colectomy (AOR 2, $P<0.01$).

Tables 4 and 5 report risk-adjusted analysis of postoperative complications of the subset of patients with diverticular disease who underwent laparoscopic and HAL colectomy compared to open colectomy, to control for differential use of HALS for left-sided vs. right-sided colectomy. Both laparoscopic and HAL colectomies had significantly lower morbidity compared to open colectomy for diverticular disease patients. When comparing laparoscopic and HAL approaches in diverticular disease patients, there was no significant difference in mortality (AOR 1.61, CI 0.11–23.12, $P=0.72$) and morbidity of patients (AOR 1.10, CI 0.85–1.41, $P=0.46$).

Table 1 Demographics of patients who underwent elective colon resection by surgical approach

Variables		Open (7480)	Laparoscopy (8751)	Hand-assisted laparoscopy (2860)	Converted procedures to open (1999)
Age	Mean $\pm$ SD (year)	63 $\pm$ 15	60 $\pm$ 11.5	61 $\pm$ 11.4	61 $\pm$ 11.4
	Median, year	64	61	62	63
Sex	Male	3649 (48.8 %)	4250 (48.6 %)	1438 (50.3 %)	1075 (53.8 %)
Race	White	5785 (86.5 %)	6961 (86.2 %)	2389 (89.9 %)	1560 (85.1 %)
	Black or African American	718 (10.7 %)	766 (9.5 %)	175 (6.6 %)	218 (11.9 %)
	Asian	165 (2.5 %)	305 (3.8 %)	81 (3 %)	42 (2.3 %)
	Others	22 (0.3 %)	39 (0.5 %)	12 (0.5 %)	13 (0.7 %)
Comorbidity	Dyspnea	709 (9.5 %)	526 (6 %)	211 (7.4 %)	163 (8.2 %)
	Bleeding disorders	345 (4.6 %)	213 (2.4 %)	84 (2.9 %)	71 (3.6 %)
	Hypertension	3799 (50.8 %)	4043 (46.2 %)	1430 (50 %)	1096 (54.8 %)
	Weight loss	580 (7.8 %)	285 (3.3 %)	78 (2.7 %)	103 (5.2 %)
	Chronic pulmonary disease	452 (6 %)	338 (3.9 %)	131 (4.6 %)	88 (4.4 %)
	Diabetes mellitus	1236 (16.5 %)	1148 (13.1 %)	403 (14.1 %)	345 (17.3 %)
	Chronic steroid use	750 (10 %)	688 (7.9 %)	180 (6.3 %)	188 (9.4 %)
	Congestive heart failure	85 (1.1 %)	44 (0.5 %)	21 (0.7 %)	15 (0.8 %)
	Renal failure need for dialysis	53 (0.7 %)	39 (0.4 %)	13 (0.5 %)	14 (0.7 %)
	Disseminated cancer	724 (9.7 %)	242 (2.8 %)	91 (3.2 %)	108 (5.4 %)
	Ascites	72 (1 %)	14 (0.2 %)	6 (0.2 %)	7 (0.4 %)
	Obesity	2467 (33.3 %)	2818 (32.4 %)	1014 (35.6 %)	817 (41.1 %)
ASA class	I	108 (1.4 %)	318 (3.6 %)	86 (3 %)	38 (1.9 %)
	II	2843 (38 %)	4836 (55.3 %)	1474 (51.5 %)	904 (45.2 %)
	III	4047 (54.1 %)	3331 (38.1 %)	1224 (42.8 %)	980 (49 %)
	IV	482 (6.4 %)	266 (3 %)	76 (2.7 %)	77 (3.9 %)
Operation length	Mean $\pm$ SD (min)	170 $\pm$ 1102	173 $\pm$ 183	169 $\pm$ 185	210 $\pm$ 1101
	Median, min	147	157	154	192
Diagnosis	Colon cancer	4526 (60.5 %)	3912 (44.7 %)	1293 (45.2 %)	987 (49.4 %)
	Diverticular disease	1627 (21.8 %)	2431 (27.8 %)	940 (32.9 %)	596 (29.8 %)
	Ulcerative colitis	140 (1.9 %)	249 (2.8 %)	58 (2 %)	42 (2.1 %)
	Crohn's disease	669 (8.9 %)	540 (6.2 %)	114 (4 %)	155 (7.8 %)
	Benign colon tumors	518 (6.9 %)	1619 (18.5 %)	455 (15.9 %)	219 (11 %)
Procedure	Partial colectomy	7086 (94.7 %)	8386 (95.8 %)	2766 (96.7 %)	1907 (95.4 %)
	Total colectomy	394 (5.3 %)	365 (4.2 %)	94 (3.3 %)	92 (4.6 %)
Serum albumin level	Mean $\pm$ SD (g/dL)	3.6 $\pm$ 10.6	3.9 $\pm$ 10.5	3.9 $\pm$ 10.5	3.7 $\pm$ 10.6
	Median, g/dL	3.7	4	4	3.9
White blood cell count	Mean $\pm$ SD (cells/mm ³)	7.9 $\pm$ 13.2	7.2 $\pm$ 12.6	7.3 $\pm$ 12.5	7.7 $\pm$ 12.8
	Median, cells/mm ³	7.2	6.9	6.9	7.3
Other factors	Smoking	1393 (18.6 %)	1410 (16.1 %)	439 (15.3 %)	371 (18.6 %)
	Mechanical bowel preparation	3940 (63.8 %)	5322 (73.9 %)	1713 (75.4 %)	1124 (67.7 %)
	Oral antibiotic bowel preparation	1748 (28.2 %)	2303 (31.9 %)	717 (30.7 %)	545 (32.7 %)

SD standard deviation

Table 2 Risk-adjusted analysis for postoperative complications of laparoscopic and hand-assisted laparoscopic colectomy compared to open colectomy

Complication	Open surgery	Laparoscopic approach			Hand-assisted laparoscopic approach		
		Rate	AOR and 95 % CI	P value	Rate	AOR and 95 % CI	P value
Mortality	2.1 %	0.6 %	0.58 (0.37–0.92)	0.02	0.6 %	0.53 (0.26–1.05)	0.07
Overall morbidity ^a	44.6 %	20.7 %	0.43 (0.38–0.48)	<0.01	24.7 %	0.37 (0.18–0.74)	<0.01
Hemorrhagic complications	13.8 %	5.1 %	0.58 (0.48–0.69)	<0.01	5.5 %	0.61 (0.47–0.78)	<0.01
Hospitalization >30 days	2.6 %	0.9 %	0.52 (0.35–0.79)	<0.01	0.8 %	0.40 (0.20–0.79)	<0.01
Return to operation room	6 %	3.7 %	0.77 (0.62–0.96)	0.02	3.7 %	0.63 (0.46–0.88)	<0.01
Urinary tract infection	3.6 %	1.7 %	0.54 (0.40–0.74)	<0.01	1.9 %	0.54 (0.35–0.83)	<0.01
Prolonged ileus	19.8 %	7.4 %	0.38 (0.33–0.45)	<0.01	9.1 %	0.53 (0.44–0.65)	<0.01
Superficial SSI	8.5 %	3.8 %	0.46 (0.38–0.57)	<0.01	5.6 %	0.69 (0.53–0.90)	0.01
Deep incisional SSI	1.7 %	0.5 %	0.26 (0.15–0.45)	<0.01	0.7 %	0.34 (0.17–0.71)	<0.01
Anastomosis leakage	4.5 %	2.7 %	0.60 (0.46–0.78)	<0.01	3.2 %	0.68 (0.47–0.97)	0.03
Unplanned intubation	2.4 %	1 %	0.80 (0.55–1.15)	0.23	0.7 %	0.41 (0.21–0.79)	<0.01
Pneumonia	2.6 %	1 %	0.64 (0.44–0.93)	0.02	1.1 %	0.59 (0.34–1.02)	0.06
Progressive renal insufficiency	0.9 %	0.3 %	0.24 (0.11–0.52)	<0.01	0.4 %	0.55 (0.24–1.28)	0.17
Organ space SSI	5.8 %	2.7 %	0.57 (0.45–0.72)	<0.01	3.7 %	0.78 (0.57–1.06)	0.11
Sepsis	5 %	2 %	0.57 (0.43–0.75)	<0.01	2.7 %	0.88 (0.63–1.25)	0.50
Wound disruption	1.5 %	0.5 %	0.62 (0.37–1.04)	0.07	0.6 %	0.66 (0.32–1.34)	0.25
Deep vein thrombosis	1.7 %	0.8 %	0.80 (0.53–1.22)	0.31	0.8 %	0.96 (0.55–1.67)	0.89
Central vascular accident	0.3 %	0.2 %	1.51 (0.63–3.61)	0.35	0.2 %	1.46 (0.43–4.98)	0.53
Myocardial infarction	0.8 %	0.4 %	0.56 (0.28–1.10)	0.09	0.5 %	0.94 (0.42–2.12)	0.89
Pulmonary embolism	1 %	0.4 %	0.70 (0.41–1.20)	0.20	0.4 %	0.46 (0.19–1.12)	0.09
Cardiac arrest	0.5 %	0.3 %	0.83 (0.41–1.67)	0.60	0.2 %	0.45 (0.13–1.54)	0.20
Ventilator dependency	2.1 %	0.7 %	0.67 (0.43–1.04)	0.08	0.8 %	0.50 (0.24–1.02)	0.05
Septic shock	1.9 %	0.7 %	0.78 (0.50–1.22)	0.28	0.6 %	0.53 (0.26–1.10)	0.08

SSI surgical site infection

^a Includes prolonged ileus, hospitalization more than 30 days, pneumonia, superficial surgical site infection, cardiac arrest, myocardial infarction, organ space surgical site infection, deep incisional surgical site infection, unplanned intubation, ventilator dependency, hemorrhagic complications, wound disruption, deep vein thrombosis, central vascular accident, pulmonary embolism, sepsis, return to operation room, anastomosis leakage, urinary tract infection, progressive renal insufficiency, and septic shock

Table 3 Risk-adjusted analysis for postoperative complications of hand-assisted laparoscopic colectomy compared to laparoscopic colectomy

Complication	Laparoscopic approach	Hand-assisted laparoscopic approach	Adjusted-odds ratio	95 % confidence interval	P value
Mortality	0.6 %	0.6 %	0.90	0.42–1.92	0.79
Overall morbidity ^a	20.7 %	24.7 %	1.29	1.11–1.49	<0.01
Sepsis	2 %	2.7 %	1.51	1.04–2.19	0.02
Superficial SSI	3.8 %	5.6 %	1.48	1.12–1.96	<0.01
Organ space SSI	2.7 %	3.7 %	1.40	1.01–1.93	0.04
Prolonged ileus	7.4 %	9.1 %	1.36	1.10–1.69	<0.01
Unplanned intubation	1 %	0.7 %	0.46	0.23–1.07	0.06
Hospitalization >30 days	0.9 %	0.8 %	0.82	0.38–1.74	0.61
Return to operation room	3.7 %	3.7 %	0.86	0.61–1.20	0.39
Pneumonia	1 %	1.1 %	0.99	0.54–1.80	0.98
Deep incisional SSI	0.5 %	0.7 %	1.30	0.57–2.98	0.52
Myocardial infarction	0.4 %	0.5 %	1.52	0.62–3.76	0.35
Hemorrhagic complications	5.1 %	5.5 %	1.01	0.77–1.33	0.89
Wound disruption	0.5 %	0.6 %	1.16	0.54–2.46	0.69
Deep vein thrombosis	0.8 %	0.8 %	1.29	0.72–2.31	0.39
Anastomosis leakage	2.7 %	3.2 %	1.15	0.79–1.67	0.45
Central vascular accident	0.2 %	0.2 %	0.87	0.25–2.99	0.82
Urinary tract infection	1.7 %	1.9 %	1.10	0.70–1.75	0.66
Progressive renal insufficiency	0.3 %	0.4 %	1.86	0.65–5.30	0.24
Pulmonary embolism	0.4 %	0.4 %	0.70	0.27–1.76	0.45
Cardiac arrest	0.3 %	0.2 %	0.49	0.13–1.81	0.29
Ventilator dependency	0.7 %	0.8 %	0.67	0.31–1.44	0.30
Septic shock	0.7 %	0.6 %	0.61	0.28–1.30	0.20

SSI surgical site infection

^a Includes prolonged ileus, hospitalization more than 30 days, pneumonia, superficial surgical site infection, cardiac arrest, myocardial infarction, organ space surgical site infection, deep incisional surgical site infection, unplanned intubation, ventilator dependency, hemorrhagic complications, wound disruption, deep vein thrombosis, central vascular accident, pulmonary embolism, sepsis, return to operation room, anastomosis leakage, urinary tract infection, progressive renal insufficiency, and septic shock

Discussion

Hand-assisted laparoscopic colectomy is a safe and feasible surgical technique. Minimally invasive approaches to colectomy are becoming more common.^{5, 6, 17} However, laparoscopic colectomy has a substantial learning curve and requires advanced laparoscopic skills.¹⁷ Insertion of a hand during laparoscopic colectomy with restoration of spatial orientation can help surgeons to do complex colon procedures which they may find difficult to perform laparoscopically. Our study results show that while patients who underwent HAL colectomy had higher morbidity compared to patients who underwent laparoscopic colectomy, outcomes of patients who underwent HAL colectomy are still significantly better than patients who underwent open colectomy. Our results apply for patients who underwent all colonic resectional procedures. Also, in subset analysis of data for diverticular disease patients who underwent left colectomy, we found similar results compared to open colectomy, and the differences seen between LC and HAL were not apparent. Advantages of HAL colectomy compared to open colectomy have been cited multiple times.^{18, 19} Also, recently published articles have reported on the safety of HAL colectomy for colorectal cancer.^{19, 20} Before converting a laparoscopic

colectomy to open, the possibility of HAL approach should be evaluated. However, presence of selection bias for patients who underwent open, laparoscopic, and HAL colectomy limit our ability to draw more firm conclusions as these three groups of patients are not homogeneous groups of patients regarding demographic data, disease stage, and comorbidities. Patient with advanced disease more frequently underwent open surgery and HAL colectomy may be chosen in situations where laparoscopic surgery is suboptimal. On the other hand, designing a prospective study with three homogeneous groups of patients to compare open, laparoscopic, and HAL approaches is not practical, and retrospective studies which control for perioperative factors are more accessible and realistic.

Our study results show that HAL colectomy has a shorter hospitalization length of stay with fewer postoperative complications compared to open colectomy. We found a significant decrease in frequency of ten postoperative complications using the hand-assisted approach to colectomy compared to the open approach. Shorter hospitalization length, lower wound infection, and postoperative ileus for hand-assisted approach compared to open colectomy were reported previously.^{11, 18, 19} Although in subset analysis of data for patients with diverticulitis who underwent left-sided colectomy we found similar results, differences in case selection of open surgery and HAL colectomy make any firm conclusions difficult to make. Also, the role of the HAL approach in emergent cases that more likely are done with the open approach is unclear and beyond the scope of the current study. Further studies are indicated to compare open and HAL colectomy with two homogeneous groups of patients.

Hand-assisted colectomy procedures can also be used as a bridge toward totally laparoscopic colectomy. Our study results show that while HAL colectomy has significant benefits compared to open colectomy, laparoscopic colectomy has better overall outcomes compared to the hand-assisted approach. We found that superficial surgical site infection, sepsis, intra-abdominal infections, and prolonged ileus are significantly higher in HAL approach compared to laparoscopic colectomy. Previous studies reported similar outcomes of laparoscopic and HAL colectomy.^{15, 17, 21} This may be attributed to the fact that previous studies were generally underpowered with a limited number of patients. However, Tjandra reported a higher rate of ileus for HAL colorectal resection compared to laparoscopic resection which is in line with our study results.²² The role of a HAL approach to colectomy remains controversial, and there is a debate whether it helps or hinders.¹⁷ Despite disadvantages of HAL colectomy over laparoscopic colectomy, hand-assisted approach may be more likely done for complex colon procedures which have more limited opportunity for laparoscopic surgery.^{13, 23} Considering that it is easier for some surgeons to perform HAL colectomy compared to laparoscopic colectomy,²⁴ it is reasonable to utilize hand-assisted colectomy in complex cases which a particular surgeon does not consider suitable for laparoscopic surgery. Also, our study results show that converted procedures have a twofold increased morbidity risk compared to successfully completed HAL colectomy. We have no information on conversion of a laparoscopic colon procedure to the hand-assisted approach, which needs further investigation.

Table 4 Risk-adjusted analysis for postoperative complications of patients with converted procedures to open compared to other approaches

Complication	Open approach		Laparoscopic approach		Hand-assisted laparoscopic approach	
	AOR and 95 % CI	P value	AOR and 95 % CI	P value	AOR and 95 % CI	P value
Mortality	1.29 (0.77–2.16)	0.32	1.88 (0.99–3.56)	0.05	2.06 (0.90–4.71)	0.08
Overall morbidity ^a	1.02 (0.88–1.18)	0.74	2.42 (2.07–2.82)	<0.01	2 (1.66–2.41)	<0.01
Prolonged ileus	1.05 (0.89–1.25)	0.53	2.67 (2.18–3.27)	<0.01	2.13 (1.67–2.70)	<0.01
Superficial SSI	1.25 (0.99–1.58)	0.05	2.81 (2.14–3.68)	<0.01	1.96 (1.43–2.69)	<0.01
Hemorrhagic complications	1.07 (0.87–1.31)	0.51	1.89 (1.49–2.41)	<0.01	1.84 (1.35–2.49)	<0.01
Deep incisional SSI	0.90 (0.55–1.49)	0.69	3.20 (1.63–6.29)	<0.01	2.35 (1.02–5.41)	0.04
Wound disruption	1.52 (0.91–2.54)	0.10	2.52 (1.34–4.72)	<0.01	2.31 (1.03–5.15)	0.04
Organ space SSI	1.05 (0.80–1.38)	0.70	1.88 (1.36–2.60)	<0.01	1.37 (0.93–2)	0.10
Anastomosis leakage	0.89 (0.63–1.25)	0.52	1.49 (1.02–2.18)	0.03	1.25 (0.79–1.96)	0.33
Sepsis	1.02 (0.74–1.40)	0.88	1.62 (1.11–2.37)	0.01	1.06 (0.68–1.65)	0.77
Unplanned intubation	0.68 (0.40–1.14)	0.15	0.93 (0.51–1.69)	0.81	1.94 (0.82–4.58)	0.12
Hospitalization >30 days	0.73 (0.46–1.17)	0.19	1.23 (0.66–2.29)	0.51	1.53 (0.66–3.53)	0.32
Return to operation room	0.91 (0.67–1.22)	0.53	1.09 (0.78–1.52)	0.59	1.31 (0.86–1.99)	0.19
Pneumonia	1.05 (0.68–1.64)	0.80	1.47 (0.87–2.50)	0.14	1.45 (0.74–2.84)	0.27
Myocardial infarction	0.92 (0.41–2.06)	0.85	1.86 (0.74–4.70)	0.18	0.91 (0.30–2.80)	0.87
Deep vein thrombosis	1.17 (0.71–1.94)	0.52	1.53 (0.85–2.75)	0.15	1.20 (0.59–2.43)	0.60
Central vascular accident	0.67 (0.14–3.21)	0.61	0.57 (0.11–2.82)	0.49	0.46 (0.05–7.05)	0.71
Urinary tract infection	0.75 (0.50–1.13)	0.17	1.28 (0.80–2.04)	0.29	1.21 (0.68–2.12)	0.50
Progressive renal insufficiency	0.40 (0.16–0.97)	0.04	1.35 (0.42–4.33)	0.61	0.62 (0.16–2.27)	0.47
Pulmonary embolism	0.89 (0.44–1.80)	0.74	1.36 (0.62–2.99)	0.43	2.43 (0.83–7.12)	0.10
Cardiac arrest	1.02 (0.44–2.37)	0.94	1.19 (0.44–3.17)	0.72	2.67 (0.64–11.18)	0.17
Ventilator dependency	0.89 (0.52–1.52)	0.68	1.22 (0.64–2.33)	0.52	1.97 (0.82–4.75)	0.12
Septic shock	0.75 (0.42–1.34)	0.33	1.03 (0.52–2.06)	0.92	1.53 (0.62–3.76)	0.35

SSI Surgical Site Infection

^a Includes prolonged ileus, hospitalization more than 30 days, pneumonia, superficial surgical site infection, cardiac arrest, myocardial infarction, organ space surgical site infection, deep incisional surgical site infection, unplanned intubation, ventilator dependency, hemorrhagic complications, wound disruption, deep vein thrombosis, central vascular accident, pulmonary embolism, sepsis, return to operation room, anastomosis leakage, urinary tract infection, progressive renal insufficiency, and septic shock

Our study results show that HAL colectomy provides slightly more efficient segmental colectomy regarding operative time compared to laparoscopic colectomy. In addition, we found that the operative time of the hand-assisted approach and open colectomy have no significant differences. Previous studies have reported similar results.^{14, 15, 21} Hand-assisted colectomy can be used to facilitate minimally invasive colectomy and speed up a certain laparoscopic step in difficult cases. Benefits of the hand-assisted approach should be balanced with its disadvantages such as higher risks of postoperative ileus and wound infection. In addition, long-term outcomes of HAL colectomy regarding the impact of creating a larger incision and inserting a hand into the abdomen as it relates to incisional hernia and small bowel obstruction needs more investigation. A recently published article reported HAL as an independent risk factor of incisional site hernia following abdominal surgery.²⁵ Closure of the hand port place with non-absorbable suture and limited activity for 4 to 6 weeks post procedure are suggested in the literature.²⁶

The HAL approach in left-sided colectomies has the same outcomes as the laparoscopic approach. In the subset analysis of data, our study results show that patients with diverticular disease who underwent left colectomy benefit from both laparoscopic and HAL colectomy. However, we did not find any significant difference in postoperative complications of HAL and laparoscopic colectomy in diverticular disease patients. This is in line with previous reports.^{15, 27} Considering the high conversion rate of laparoscopic colectomy to open for diverticulitis, such patients may benefit from the HAL approach before converting the procedure to open.²⁸

Table 5 Risk-adjusted analysis for postoperative complications of patients with diverticulitis who underwent laparoscopic and hand-assisted laparoscopic colectomy compared to open colectomy

Complication	Open surgery	Laparoscopic approach			Hand-assisted laparoscopic approach		
		Rate	AOR and 95 % CI	P value	Rate	AOR and 95 % CI	P value
Mortality	1.2 %	0.2 %	0.25 (0.04–1.37)	0.11	0.2 %	0.34 (0.05–2.05)	0.24
Overall morbidity ^a	43.2 %	16.8 %	0.38 (0.31–0.47)	<0.01	19.8 %	0.39 (0.30–0.51)	<0.01
Hemorrhagic complications	10.2 %	2.8 %	0.66 (0.44–0.98)	0.04	2.5 %	0.37 (0.20–0.67)	<0.01
Unplanned intubation	2 %	0.2 %	0.19 (0.05–0.69)	0.01	0.2 %	0.11 (0.01–0.85)	0.03
Sepsis	5.9 %	2.1 %	0.61 (0.38–0.97)	0.03	2 %	0.33 (0.16–0.66)	<0.01
Prolonged ileus	18.1 %	5.2 %	0.40 (0.29–0.54)	<0.01	6.2 %	0.42 (0.29–0.61)	<0.01
Superficial SSI	10.2 %	4 %	0.33 (0.23–0.48)	<0.01	6 %	0.42 (0.27–0.66)	<0.01
Deep incisional SSI	1.6 %	0.5 %	0.29 (0.11–0.73)	<0.01	0.5 %	0.31 (0.10–0.98)	0.04
Hospitalization > 30 days	2.5 %	0.3 %	0.26 (0.08–0.79)	0.01	0.3 %	0.27 (0.06–1.18)	0.08
Return to operation room	6 %	3.9 %	0.83 (0.55–1.26)	0.38	3.7 %	0.46 (0.26–0.82)	<0.01
Anastomosis leakage	3.6 %	2.7 %	0.62 (0.37–1.04)	0.07	3 %	0.50 (0.26–0.99)	0.04
Wound disruption	1.9 %	0.5 %	0.38 (0.15–0.93)	0.03	0.6 %	0.37 (0.12–1.12)	0.08
Organ space SSI	6 %	3 %	0.75 (0.49–1.16)	0.21	3.1 %	0.48 (0.25–0.89)	0.02
Pneumonia	2 %	0.5 %	0.46 (0.20–1.09)	0.07	0.5 %	0.28 (0.08–1)	0.05
Progressive renal insufficiency	1 %	0.3 %	0.21 (0.04–1.06)	0.06	0.3 %	0.53 (0.10–2.66)	0.44
Urinary tract infection	3 %	1.6 %	0.62 (0.32–1.20)	0.16	2.1 %	1 (0.51–1.95)	0.99
Deep vein thrombosis	0.9 %	0.8 %	1.58 (0.53–4.72)	0.40	0.5 %	1.72 (0.52–5.71)	0.37
Central vascular accident	0.2 %	0 %	^b	–	0.1 %	0.25 (0.01–7.47)	0.42
Myocardial infarction	0.6 %	0.2 %	0.84 (0.17–3.96)	0.82	0.2 %	0.36 (0.03–3.71)	0.39
Pulmonary embolism	0.8 %	0.3 %	0.45 (0.11–1.84)	0.26	0.3 %	0.53 (0.10–2.72)	0.45
Cardiac arrest	0.2 %	0 %	^b	–	0 %	^b	–
Ventilator dependency	2.1 %	0.5 %	0.62 (0.26–1.47)	0.28	0.4 %	0.24 (0.05–1.11)	0.06
Septic shock	1.5 %	0.6 %	1.03 (0.43–2.47)	0.93	0.5 %	0.69 (0.18–2.56)	0.58

SSI surgical site infection

^a Includes prolonged ileus, hospitalization more than 30 days, pneumonia, superficial surgical site infection, cardiac arrest, myocardial infarction, organ space surgical site infection, deep incisional surgical site infection, unplanned intubation, ventilator dependency, hemorrhagic complications, wound disruption, deep vein thrombosis, central vascular accident, pulmonary embolism, sepsis, return to operation room, anastomosis leakage, urinary tract infection, progressive renal insufficiency, and septic shock

^b There was not any case at least in one group to run multivariate analysis

Study Limitations

The main weakness of the study was the retrospective nature of it, and causality cannot be inferred based only on our data. Our study is further limited by selection bias and coding inaccuracies as a result of the retrospective design and using discharge data. The

NSQIP database does not represent a national weighted distribution of cases, and we could not report the rates of open, laparoscopic, and HAL colectomy as the national rates. We investigated surgical approaches in elective colon resections; however, utilization of laparoscopic and HAL in emergent cases needs to be investigated. One of the purported advantages of HAL is a lower conversion rate compared to laparoscopic surgery, but NSQIP does not separate the conversion rate of laparoscopic surgery and HAL to open operation, and therefore, we cannot provide any data to answer that question, and also, we could not compare intention to treat laparoscopic colectomy with HAL colectomy.¹⁸ The decision to use a hand port is sometimes made when it becomes clear that a laparoscopic approach alone is suboptimal. However, in the NSQIP database, no data was available to evaluate if patients undergoing LC were converted to HAL or the procedure was started with the HAL approach in the first place. We compared the three groups of open, laparoscopic, and HAL colectomy in this study. However, these three groups of patients were not three homogeneous groups of patients regarding demographic data and comorbidities. The NSQIP database does not provide any information on long-term oncologic outcomes, conversion rate to open, and intra-operative transfusion.²³ Despite these limitations, the present analysis can be used as a baseline in future strategies and studies of utilizing HAL surgery in colorectal surgery.

Conclusion

Hand-assisted laparoscopic colectomy is a safe approach with significant advantages compared to open colectomy. It is reasonable to utilize hand-assisted colectomy in complex cases which are not felt to be suitable for laparoscopic surgery. When comparing it with laparoscopic colectomy, HAL colectomy is associated with higher rates of prolonged ileus, sepsis, intra-abdominal infection, and superficial surgical site infection. However, hand-assisted approach to colectomy does modestly, but significantly, decrease the length of operation compared to laparoscopic colectomy. The advantages and disadvantages of HAL colectomy should be compared for each colon procedure. The possibility of conversion of a laparoscopic colon procedure to hand-assisted approach and long-term outcomes of the insertion of a hand into the abdomen regarding risk of incisional hernia and small bowel obstruction need more investigation.^{25, 26}

Acknowledgments

Dr. Stamos has received educational grants and speaker fees paid to the Department of Surgery, University of California, Irvine, from Ethicon, Gore, Covidien, and Olympus. Dr. Mills and Dr. Carmichael received Ethicon educational grants paid to the Department of Surgery, University of California, Irvine. Dr. Pigazzi is a consultant for Intuitive Surgical and has also received consultancy fees and educational grants paid to the Department of Surgery, University of California, Irvine. Dr. Moghadamyeghaneh and Dr. Nguyen have no disclosures. Dr. Moghadamyeghaneh had full access to all of the data in the study and takes responsibility for the integrity of the data and the accuracy of the data analysis.

References

1. D. L. Fowler and S. A. White, "Laparoscopy-assisted sigmoid resection," *Surg Laparosc Endosc*, vol. 1, pp. 183-8, 1991
2. M. Jacobs, J. C. Verdeja, and H. S. Goldstein, "Minimally invasive colon resection (laparoscopic colectomy)," *Surg Laparosc Endosc*, vol. 1, pp. 144-50, 1991
3. D. Feingold, S. R. Steele, S. Lee, A. Kaiser, R. Boushey, W. D. Buie, et al., "Practice parameters for the treatment of sigmoid diverticulitis," *Dis Colon Rectum*, vol. 57, pp. 284-94, Mar 2014
4. C. O. o. S. T. S. Group, "A comparison of laparoscopically assisted and open colectomy for colon cancer," *N Engl J Med*, vol. 350, pp. 2050-9, 2004
5. Z. Moghadamyeghaneh, H. Masoomi, S. D. Mills, J. C. Carmichael, A. Pigazzi, N. T. Nguyen, et al., "Outcomes of conversion of laparoscopic colorectal surgery to open surgery," *JSLs*, vol. 18, 2014 2014.
6. H. Masoomi, Z. Moghadamyeghaneh, S. Mills, J. C. Carmichael, A. Pigazzi, and M. J. Stamos, "Risk Factors for Conversion of Laparoscopic Colorectal Surgery to Open Surgery: Does Conversion Worsen Outcome?," *World J Surg*, Jan 2015.
7. A. Bedirli, B. Salman, and O. Yuksel, "Laparoscopic versus Open Surgery for Colorectal Cancer: A Retrospective Analysis of 163 Patients in a Single Institution," *Minim Invasive Surg*, vol. 2014, p. 530314, 2014.
8. B. D. Schirmer, "Laparoscopic colon resection," *Surg Clin North Am*, vol. 76, pp. 571-83, 1996.
9. M. S. Kavac, "Hand-assisted laparoscopic surgery–HALS," *JSLs*, vol. 5, pp. 101-3, 2001 2001
10. G. H. Ballantyne and P. F. Leahy, "Hand-assisted laparoscopic colectomy: evolution to a clinically useful technique," *Dis Colon Rectum*, vol. 47, pp. 753-65, 2004.
11. K. Nakajima, S. W. Lee, C. Cocilovo, C. Foglia, T. Sonoda, and J. W. Milsom, "Laparoscopic total colectomy: hand-assisted vs standard technique," *Surg Endosc*, vol. 18, pp. 582-6, 2004.
12. D. Y. Wang, J. J. Lin, X. M. Xu, and F. L. Liu, "The role of hand-assisted laparoscopic surgery in total colectomy for colonic inertia: a retrospective study," *J Korean Surg Soc*, vol. 85, pp. 123-7, 2013.
13. I. Hassan, Y. N. You, R. R. Cima, D.W. Larson, E. J. Dozois, S. A. Barnes, et al., "Hand-assisted versus laparoscopic-assisted colorectal surgery: Practice patterns and clinical outcomes in a minimallyinvasive colorectal practice," *Surg Endosc*, vol. 22, pp. 739-43, Mar 2008.
14. R. R. Cima, R. Pendlimari, S. D. Holubar, J. Pattana-Arun, D. W. Larson, E. J. Dozois, et al., "Utility and short-term outcomes of hand-assisted laparoscopic colorectal surgery: a single-institution experience in 1103 patients," *Dis Colon Rectum*, vol. 54, pp. 1076-81, 2011.
15. S. W. Lee, J. Yoo, N. Dujovny, T. Sonoda, and J. W. Milsom, "Laparoscopic vs. hand-assisted laparoscopic sigmoidectomy for diverticulitis," *Dis Colon Rectum*, vol. 49, pp. 464-9, Apr 2006.
16. "National Surgical Quality Improvement Program [home page on the Internet]

Chicago, IL: American College of Surgeons; 2005. [cited 2012 Jan 17]. Available from: www.acsnsqip.org," ed.

17. T. Sonoda, S. Pandey, K. Trencheva, S. Lee, and J. Milsom, "Longterm complications of hand-assisted versus laparoscopic colectomy," *J Am Coll Surg*, vol. 208, pp. 62-6, 2009.
18. J. Ding, Y. Xia, G. Q. Liao, Z. M. Zhang, S. Liu, Y. Zhang, et al., "Hand-assisted laparoscopic surgery versus open surgery for colorectal disease: a systematic review and meta-analysis," *Am J Surg*, vol. 207, pp. 109-19, 2014.
19. T. Tajima, M. Mukai, M. Yamazaki, S. Higami, S. Yamamoto, S. Hasegawa, et al., "Comparison of hand-assisted laparoscopic surgery and conventional laparotomy for colorectal cancer: Interim results from a single institution," *Oncol Lett*, vol. 8, pp. 627-632, 2014.
20. R. K. Sotomayor and B. Arboleda, "Experience with hand assisted laparoscopic surgery of the colon," *Bol Asoc Med P R*, vol. 100, pp. 13-8, 2008 2008
21. N. E. Samalavicius, R. K. Gupta, A. Dulskas, D. Kazanavicius, K. Petrulis, and R. Lunevicius, "Clinical outcomes of 103 handassisted laparoscopic surgeries for left-sided colon and rectal cancer: single institutional review," *Ann Coloproctol*, vol. 29, pp. 225-30, 2013
22. J. J. Tjandra, M. K. Chan, and C. H. Yeh, "Laparoscopic- vs. handassisted ultralow anterior resection: a prospective study," *Dis Colon Rectum*, vol. 51, pp. 26-31, 2008.
23. "Hand-assisted laparoscopic surgery vs standard laparoscopic surgery for colorectal disease: a prospective randomized trial. HALS Study Group," *Surg Endosc*, vol. 14, pp. 896-901, 2000.
24. A. W. Meshikhes, M. El Tair, and T. Al Ghazal, "Hand-assisted laparoscopic colorectal surgery: initial experience of a single surgeon," *Saudi J Gastroenterol*, vol. 17, pp. 16-9, 2011 2011
25. C. J. Goodenough, T. C. Ko, L. S. Kao, M. T. Nguyen, J. L. Holihan, Z. Alawadi, et al., "Development and Validation of a Risk Stratification Score for Ventral Incisional Hernia after Abdominal Surgery: Hernia Expectation Rates in Intra-Abdominal Surgery (The HERNIA Project)," *J Am Coll Surg*, vol. 220, pp. 405-13, 2015.
26. S. A. Troxel and S. Das, "Incisional hernia following hand-assisted laparoscopic surgery for renal cell cancer," *JSLs*, vol. 9, pp. 196-8, 2005 2005
27. M. J. Mooney, P. L. Elliott, D. B. Galapon, L. K. James, L. J. Lilac, and M. J. O'Reilly, "Hand-assisted laparoscopic sigmoidectomy for diverticulitis," *Dis Colon Rectum*, vol. 41, pp. 630-5, May 1998.
28. J. M. Lipman and H. L. Reynolds, "Laparoscopic management of diverticular disease," *Clin Colon Rectal Surg*, vol. 22, pp. 173-80, 2009.

Presented as a poster presentation: The American Society of Colon and Rectal Surgeons Meeting, Boston, MA, May 30–June 3, 2015

* Michael J. Stamos mstamos@uci.edu